
Имя: Ключ к правильным ответамРазложение неправильных дробей
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Ответы

об. 154⁄8

1. 183⁄5

2. 82⁄5

3. 66⁄8

4. 117⁄9

5. 171⁄2

6. 102⁄4

7. 101⁄2

8. 121⁄2

9. 152⁄3

10. 61⁄2

11. 92⁄3

12. 132⁄7

13. 63⁄7

14. 91⁄2

15. 111⁄2

16. 114⁄7

17. 116⁄8

18. 124⁄7

19. 142⁄6

20. 166⁄10

Разложите каждую неправильную дробь.

об)
5 84

8
= 154⁄8

1)
10 43

5
= 183⁄5

2)
4 22

5
= 82⁄5

3)
2 38

8
= 66⁄8

4)
3 79

9
= 117⁄9

5)
7 21

2
= 171⁄2

6)
4 26

4
= 102⁄4

7)
2 17

2
= 101⁄2

8)
8 9

2
= 121⁄2

9)
7 26

3
= 152⁄3

10)
4 5

2
= 61⁄2

11)
2 23

3
= 92⁄3

12)
3 72

7
= 132⁄7

13)
3 24

7
= 63⁄7

14)
2 15

2
= 91⁄2

15)
6 11

2
= 111⁄2

16)
4 53

7
= 114⁄7

17)
8 30

8
= 116⁄8

18)
7 39

7
= 124⁄7

19)
7 44

6
= 142⁄6

20)
8 86

10
= 166⁄10
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